LG

1?*%@&3%%@
L1 P EAR-FR- -0 - Pz @ NRHA FI2 LN e s AR
T E'){%fé??ﬁbjgikzgﬂ Moz L RE 2 EE o
12}’?“*@‘“‘*@‘-”}’?”"]\J’M‘é~7§iﬁvﬁﬁaﬁﬁl%?”PE ERpBAG = BE FLP
I L T S
lB%ﬁvEfﬂ'ﬁlé?xﬁ'ﬁﬁﬁ]—\&i%%7 SR e A BRI A AR S 0 x

A 11~ 1a~11b~1lc 2% % 2 = 5 % o
BAIIL D R HOTEEITR B E G S FRP G FRAPEET ) - T LK .

A Lla: P S RIT RS o BEP G G R AP e 24
A7) 10b c R ATERIT R RE G o ERP G F R AREED )2 24K
BALLC: @ % NI REE S oGP G R ARIE S A4
CREPAR ER A ER L X

3.0 B 2 g ANz #@WLﬁW:

3.1 B o
32K H K MBH(GLE KA T LB BIEEN KRR E) KA BN RBHI 2T
RAARG AN Lo

33 A o
Atipl it 4 BEPRRtd Y Hp FE R PET R A TR ek AR
ZRETHELEIEP 2 P

4.1% 2 jE 3 7 pafgwsommru #- PR -

423 B8 b K (H g "D e S 8L 5 = X F R o
5.k B Fp N

SBLEREFLAXERIERABE LYY CRBERAN- 04 8- R2LF -

2%&&%ﬂéﬁﬁ”ﬁé—fﬁfﬁw°

537 & p (78 3 p B2 LB LE LG BACE- o

5.4 325 3 pE ;‘g;g,y%?g\;gg%?: T02Bz 3 e % WZARIHV T37 B2 kR o

00— — — — — — — — — — 20 20
|
s —10 20 70 20 10
|
|
0° 35 %0 100 90 3s .
|
|
50— —10 20 70 20 19
|
bl — — = = = - - - = 20 20
| | | | |

|
20° 19° 5 o 5 10" 20°




Rl - ”’F" P 1~1la~1b~2a~2b~3-~4 (3 )%
BopiTd e E HEERLG
55 kAR B RIEFE4T

551 #7 7 (% AR 6 KR BE %%@%@“”Mpﬂ’vmj

LR LA S B
A ST RF - Z TR NRPFEEIR . RE DR xx‘ﬁimfr&%ﬁn °
552 $7 {#Eie2 B FHLERS

:z RaF~—- = - 7T REFN - N REF2 4 5%
B o BEAA2Z KRELPHDL o FHE G E LT APEENS DR (A ST K
Poo 2 T REA ARE) S TRt FE BRI IEAP B E
FESSEARLD I OGN o T T ORI SR R RN PR e
FEET NP BT YA B

5.5'3 uﬁg 3 %?}{:ﬁ% R A gl N

7

2B B EAP AR B FE o
b TR e BB CRR BRI PES U

pd- -1 (&
T 0%) Aiisir ™) Audkit- Mz OB -
CRENTS: S 5
6.l &R & R
ALE w2 BWAEBRRGKIRIYT-T R A RT3 w2 B & B4 T BT
805
S
Y 1 o0g
Bl = T RIS e R ERE R
624 %5 B & (¥ = k)
6.21 %% b h t KRB L
6.2.1.1 T* 4cllagg > »Em 3 > > HE1I0 & 2 VilO)ii(lO)ii%é[ﬁ)”ﬁ”%)iz AL
_@T ;IJ = Z_ IE :
10 Rz xR Hixcd
T Tl ]
Hogs HB(5 R0R)
11 400 560
11a 400 560

22010 B R0 & H o410 & V)fe 5 B #FI(E5 & Hieth & V)i f 2 F >S4 7 42
%2 kB AP 4 F) 6.2.2 AL E -

6.212 3 1lbfr llc #f > » % & 7 > Htl5 & 2 V415 & (15 & # B)*hehk & 7 ¥ 4216
ST E AR

157 # F*h 2 & & H i~cd
o AR il = ]
HgE HZ35(% kR)
11b 250 350
1lic 400 560




'5§%@GBEHﬂﬂBEVW%&%ﬁﬁm%Hﬁﬁavwﬁﬂim,gaaﬁ
%20 KB AR 4 T 622m%§2m .

lt\

6.2.2 ,’}_9}‘:‘;%,} AR EY T BRRECRFETIALAZRFE L AER D
7
=

AT E Rz B~ E(H 0 %k):

2R RpAI SR BFERRREE R

54 B L4
11 90 700*
11a 175 700*
11b 250 800*
1l1c 400 860"
12 50 350
o HgrALIMV S0R HEJIR Ha KTAVIE- 0& HE0ARHES

ZRF S HEI ez hEie 00%E -

623 HEE ¢ 7 5 BEK:
6231 % FLhiz- kihA i, MEFEE ] XRER Ko
6.232 % 3 XRIAP B KREGUEREL ERU- 2 o
6.23.3 75 kiR s B B > AL H - KR o

624 %> v ERIMERE RZBT > W E TP ZEARFTE LERXRERT |
Zw b EEB- KRS GERY HEBEZF AR

6.25 AT L FEP 0 KRERA L0 - Z Bk o

6.26 ¢ & AtE
#FAFEE ()
4 F R 1y< x-0.120
24 f R ty> 0390
v ¢ @R y> 0.790 - 0.670x



